Exercise answer section
Chapter 6
Discrete Probability Distributions

	Number of Accidents per Month
	Probability
	
	
	

	X
	P(X)
	XP(X)
	(X - µ )
	(X - µ )2 P(X)

	0
	0.60
	0
	0 – 0.5
	(0.25)(0.6) = 0.150

	1
	0.30
	0.3
	1 – 0.5
	(0.25)(0.3) = 0.075

	2
	0.10
	0.2
	2 – 0.5
	(2.25)(0.1) = 0.225

	(
	  1.00
	0.5
	
	( = 0.450


Exercise 6.1

a.
Mean:

[image: image1.wmf]m

=

å

=

[

(

)]

.

xP

x

0

5



b.
Variance:
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Exercise 6.2

	R,R,NR
	(0.60)(0.60)(0.40)
	=
	0.144

	R,NR,R
	(0.60)(0.40)(0.60)
	=
	0.144

	NR,R,R
	(0.40)(0.60)(0.60)
	=
	0.144

	
	(
	=
	0.432


a.
Rules of probability:


b.
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Exercise 6.3

Use Appendix B.9 and n = 12

a.
P (0) = 0.014
b.
P (x ( 5) = 0.158 + 0.079 + 0.029 + 0.008 + 0.001 +0 + 0 + 0 = 0.275

c.
P (2 (  x (  4) = 0.168 + 0.240 + 0.231 = 0.639

Exercise 6.4

a.  μ = nπ = 12
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0.30 =3.6           b. 
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= nπ(1-π) = 12
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(1-0.30) = 2.52

Exercise 6.5
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 and Appendix B.5, ( = 2 and x = 0

a.
P (0) = 0.1353 or by formula 
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b.
P (x ( 2) = {1 ( [P (0) + P (1)]} ={1 ( [0.1353 + 0.2707]} = {1 ( 0.406} = 0.594

Exercise 6.6
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Exercise 6.7

Two are defective:
N = 30,  S = 5, n = 4, x = 2
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